Writing Transformations October 04, 2023

Today's Plan:

Learning Target (standard): | will describe functions as composites of
transformations.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.

f(x)=x
 reflected over x-axis -Q(x\ = —Ix\
+ vertically stretched by 3 £(x) = —3\)(\

f(x)=vx
« horizontally stretched by 4 -C(x\:ﬁ;
+ shifted right 3 £(x)= (-9
0=\ 4x-3
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2
f(x)=x
2
 horizontally compressed by 1/2 -P(x)Z(Z)\)

o shifted up 3 -P()Q :(Zx)z -|—3

f(x)=x ,
« reflected over x-axis -‘:()(\ ==X
« vertically compressed by 1/2 —(-‘60-‘-" é)&?’

« shifted down 4 {(X) =- 2{ x’-’-[.\

Write each function as a composite of functions.

f(x)=-32x+4)" -6

orut. £(x)= x>
) $60=~x* ry
2) £60)=-3%* v.s. by')
3) Flx)= -3(20)° .oy 2
) £0=3(2009) It |84
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f(x)= %‘—3x+ 6|+4

porent’ £60)= | x |
)£6d=\-x\ oy
zgcoo:y-x\ oy
3)8x)=4 x| heloyy
) £0)=4 |-3062) | shilt right 2

Write each function as a composite of functions.

f(x)=—3,f—lx—2 +5

ot £6)= (X
) £0)=-1x i
Z)F(X)‘—’\[’; PY
%g%():—'if-? VsyD
)t0)=3 3 habyy
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Write each function as a composite of functions.

f(x)== (6 4x)’ —3
@rm’c £)=x°
)-CCX) ( x)’ f\l

) $00=3(x) vs. by 3
?bj;(x\ 3('*)‘) h.c. b‘H
H(X =3 (-4(x- ")) sh, Hrgh’ri

Write each function as a composite of functions.

) f(x)=—2+3(x+1)? 6)f(x)=-2x"+1

D f(x)=—(x—2)*+3 Nf(x)=3-2|x+1]
Hf(x)=y—(x+1)-1 ) f(x)=—x+2|+3
4)f<x>=—(§x] 9)f<x)=—[§x—%] -2

5)f(x) = 4—2(3x 1) 10) £ (x) =—%(—x+1)3 6
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